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DL IF an =X (3- 1) Jr 7 i) 4 B i 4 08 = A I =0 |
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¢ =d, =a,+0b., =4AF,F_,

Hrhon=1.,2,3,,

JEUIA - B B33 A A AT LAKR 95 1 HEL i 2 8 1) = ek RO 32 L ad m] A2 48 0P X
FORWESHE . B F, — AR KB IT UL F, 5 o 88 5C 58N R 0115 5 59 52 800
. NEHIEF,=|F, e JU|F,|>w 85 R LR ZEEEE. ¢, >w #C R KR ZEAM
fiil . B 3-2Ca) J 3-2(b) 4r Bl | F, [ X w B5CRFARLL o, X o B95CE BRI 5 1Y
SRR BE 35 A S BOMAE 3% . I 3-2Co) R 224 F, g 52 pR BN A 0 L eI AT T F, B
IETORE IR o, B9 0 5 . R0 A 48 0 2 3% AAR A2 3% m 7 — sk B B th A5 f(o =

oo
D0 Flnw e S, RAUH TESRRIA new, 304 FOTRIT — e, o BT L5218 B0 BE 950585 4 %

TR S ATATRRG R RUA .t TR 3-2C0 i IR K B = e,

3 A 241 1 L e R = AR R SRR O 2 T L SR 301 15 5 04 7 R 030 3% 1) 2 7 O

83



ES 5 A% MATLABSEID)

|F|I"
Fy

ot /I/ﬂ []\I\ fr

—hahy —th () W Hew W

(a)

111
Co

(b)

i"“”

Fy

/ \
nayy /I l\ nw,

I_J. l’ _(U[() wh \“l L.—I w

(c)

B s-2 MRS 0 BOm g

SR R R S RO T R A A e A R R — 23 D L I ELRE R 4 A A IE £
WAL b H T ORI T WS A IS T 5 D AR R T i L D AR A A U I R B 23 A 1
Bt » RIVBIESE J S03A 1) Dy A 0308 o T AR T R 3

X JE 445 5 1 L o 2 — A T S SRR S Bl s B0 A3 AUk A7 B b B T L 45 2
JES f(ORFHIR P S5ER I REA THCEK.

_ 1 tyt Ty
P =) :?J FAode
1J 14

= 2 | F, |’ (3-10)
IR WL JAIE 5 00 7 249 ) 238 55 T8 L - GRS I 4% 188 Il 0 45 i B 1 - 5 R Al B
BRI B RE P . 2 B- 1 BRI A ZE LR 8 B (EliH 28 FU R )
3.2.3  HATRPBRYER P IME S i ik

A 5 (0 T8 EL AT S 0 R A I L CHAR 7 ) A B R ) R R e B R
fik o IR S O RS FR AR B2 2K — I Xk A o S0 X A L A A ek A e S X Al X R
PP E T RIF AU R TR & A IE SR IS AR XI5 55 — X FR R OC T OE A i 9 45 ) 2 Ji
12 15 AR ] BB AR OC 28 AR AR 5 o X RPN R pe g T R T S 2 A A U T

84



$IE HEMETHR

%mﬁ T 5 5 R ) 0 50 L 3 0
BIEIES

AL T 4 JEL 0 S (R 0105 5 (oo BLAT /(o0 = (= 0 B9 0 % U 2 L IO £ 5

OO0 ¢ HOE BB S ST X T G0 22 47 XERR 0 OB R A B 5, P 35

T X PR AR 5 19— A~ 52 B

Q

(1)

oy
|

ra| =

B 3-3  EXTFRAE S

X G-3)FR G- RMEERZEN, KR (D) cosCnw ) B ERE T F(2)sin(nwt)
AT R A

Ja”:: 5%}:7f<t>cos<nwlt>dt s
1, = o0
BEAEAS R BT A BB RN
L —d, —a, — 2F,
a:
F,=F.=%
4, =0
_ T
mfz

FLAL SRS S A i R ACF, R SRR B IT O e B R R SRR S i R R B
AN EESZ I, HOAT B & A T R A X0
2. AXMES
WAREL To R AMBSHERME S f(OBA f(O=— (=X ER, W R xR Y E
5 (O R B R AT 5B XS T AR X R B PR A R SRR AE . B 3-4 & AT X AR
55 By — D52,
FHZL(3-3) A1 (3-4) SR A B nf 220, LB £ () cosCnw ) B BREL T £ (1) sin(nw 1)
oA R B
a, =0, a,=0
O (3-16)
b, = le F(sin(nw t)dt

BEB AR E BN R R T

85



ES 5 A% MATLABSEID)

A

/] /]
VoV

|
|ty

1

F, =—F., = ib,
T

$r =7

0, =0

AR SEA AR S I L R RCF, R IR e 1R R SR S O L R
AL AR LI AR RE S A IR K. AR St — A {5 5 R — B A R B R A
BRI R AE TR LG T AP TSR 2 5 AT A sk Tt

3. Hi&EES

WL T, KRB O BAIER Y (0= — 7 (£ 1) W FoR 2

FOFESWIE TR LA WG K 5 BEE T SRR, B Fr b L B2 55 . Rk
FCOFR g 24 e X B ok Bk 23 385 pR B 1] 35 S AT IR B — A4S SE

Rl 3-5 Hhsc R AR R P P AR R AL /(o) S T BT 3-5(b) ~ &1 3-5Ce) rv iy i 2k 43 1) W] LA 3%
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foo
Flw) = J;f(t)efj““dt (3-19)
A B-1DF R b 1E AR e,
1o}
4o 4o
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FARTT LUR [A] — 5 HL 15 4 2% 8% A5 5 B0 0033 20 1) 9 3810 AS [] A 000 25 X BE - BT 58 B AE — S 1R
i P 1k 2 B AR S 10 2 BRI AR

D Al 7 T AR P A e ok A DAASE DL ) 31 5 0 L I o R ) A B 22k
Hl g EAR VA R X2 B 2R AR ER I — A>T 1) e R (o i e AT . OROR AR
B S HL AR b R R R i BRI S 1R A A o A it 2 AR DA T A TG U v A A A
ARAIEAF B K AR — AT E Y AR 5 B IE DUHT BT R A A 8 BN ekt 2
(89247 T TR Z B 36 NI R A7 3R 5

3.11 EEMTHA MATLAB 23

e L 2 R S 5 LA ] DAy AR R A 5 USSR D 1 1 A R R0 2 TR 3
b AR 5% 2 i L2 A I TR) 7R 50 5 B 5 e MR I IR B T LA AN TR Y
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HEMA Y, MATLAB SCELGE 5 M B % 9% k4 . OMATLAB 24t 7455 iR
% fourier Ml ifourier 523 BL AR $0 A1 A8 40 ;. QBB ik . TREN H i &% % 2%
FARE B0 AT 0 B M X R L T AR TG R4S BIME S i b s =X, R BUE T v
B B AR ) R AR . AU TR S B A e ik AR A . O BT ROE
(TEH¥E) s QKRBT QMM Y. i T MATLAB X4 R 12 5A4E TR Ktttk . B
SRR B T AR R ) 32 s AT RIOR

(5] 3-191  C AR BASETE fkib f(o & 3-40 Fros, ki sEn A=2, 9% 80 «, &
SRR T (AR w=2x/ T o 80K I & 48 B0V A8 5L 2080, I 0d B J8 A 46 08
Jok i %) B B < AR T A8 Ak B ek HA (0 5 0

R - AR Y L OB R A S T K e 4 B e g R

f(o = Az E <n21t . %)ej"‘”l’ Ar 2 Sa (nn:-) el = AT 2 smc( )

ZAG 55 n YRS B PR T R

- () Al )

KAk AR 20/T) . T MATLAB B F4 8T =550 T 09 4R I8 5555 .

D=1, T, =10Qr=1,T,=3Qr=2,T, =10,

[MATLAB # % |

n= —50:50;A=2;

tao=1;T1=10;wl =2 % pi/T1; % B X T1 = 10 B f8 JE % i %
x=nx tao/T1;Fn= A % tao/T1 * sinc(x); % B B n IR B PR IR Fn
subplot(3,1,1), stem(n % wl, Fn) % W 1) T1 =10, tao = 1 I} fy ¥F IF 3%

title('tao=1,T1=10")

n= -50:50; % 7E X T1 = 3 [if ff 3 o A5
tao=1;Tl=3;w2=2xpi/ Tl; % 5B E n PG I PR IF Fn

x=nx tao/T1;Fn= A% tao/T1 % sinc(x);
n2 = round(50 % wl/w2);

n= —n2:n2;
Fn=Fn(50-n2+1:50+n2+1);
subplot(3,1,2), stem(n * w2, Fn) % W T1 =10, tao = 1 i i 4R IE 1%

title('tao=1,T1=3")

n= —50:50;

tao=2;T1=10;w3=2x pi/T1l; % M T1 =10 0 35 i 45 %
x=nx tao/T1;Fn=2 % A % tao/T1 * sinc(x);% F L& n WK HWIRIE Fn
subplot(3,1,3), stem(n % w3, Fn) % 1} T1 = 10, tao = 2 B} Y ¥F IR 3%
title('tao=2,T1=10")

[(Fpisfrai k]

BT B R AR ik oh (5 S I IR TR TS e an & 3-41 Fios .
[4]3-20] % f(HO=eG+1D)—e(t— 1, H MATLAB gif2m i f(o)=f()e "H
Witk Fr Go) B f2 () = £ [HE Fo Go) > IR EANTS FOREHE FGo) 17 A
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tao=1.T1=10

0.2 T T

o
.1&
sl
o]

Rty

.
||Ii?> gm

- l | 1 L 1

-40 =30 =20

i
[MATLAB )% ]

R=0.02;t= - 2:R:2;
f=(t>=-1)-(t>=1);
fl=f. xexp(—J*20x%t);
f2=1f. xexp(j*20x*t);
Wl=2x%pix5;

N=500;k= —N:N;W=k* Wl/N;
Fl=flxexp(—Jjxt'*W) *xR;
F2=f2xexp(—Jxt'*W) *xR;
Fl =real(F1
F2 = real (F2
subplot(1,2,1)

plot(W,F1)

xlabel('w'")

ylabel('F1(jw)")

title('F(jw) R H] w= 20 LbA5iHE F1(jw) ")
subplot(1,2,2)

plot(W,F2)

xlabel('w')

ylabel(' 2(3w) ")

title( B (ju) £ ) w= 20 Ab MR F2(3w) ")

[FEFPisfTai it ]
BATJE AR R BB AN E 3-42 FrR .

%R F1(t
%3k £2(t

’

(
(
)i
)i

’
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F(w) /28 Elw=2040 4 15 F 1 (jw) Fjw) 4 15 B w=204LF) BTIEF2Gw)
2 : : 2 : :
1.5 1 151 g
[ . It 1
z Z
= =
057 | i 057 b
| \ AN 1 Yavavi [\_
ot I s o o] 1
-0.5 - ' ' 0.5 - ' '
—40 =20 0 20 40 —40 —20 0 20 40
W w

& 3-42 Sk e

(61 3-211 &HE(ES f()=Salx) W RFEH A 0 = 1. Snrad/s Fl Q. =2. Snrad/s
X HCHEAT AR ) MATLAB 2 i) H i 38R R 17 55 K0 I A9 A0 455 5 10 Wl 2 3

. 55 £ =Salx) RSB N . R 38 R ARE B AT, H 28 28 i R AR AR
2 HCRAER 0 NT 2x. T =21/00 = (4/3)s. &R AEFIEIRS: REWE Q. KT
2. Ty =2n/0, = (4/5) s, N KA RS .l MATLAB 2l 945 5 15 90 R {5 5 iR 5 3% i
JFUE L R RS an ] 3-43 FR

[MATLAB # /%]

nl= -8:4/3:8;

f1 = sinc(nl);

subplot(2,2,1);

stem(nl, £f1);hold on;

tl= -8:0.1:8;

£2 = sinc(tl);

plot(tl, f2,':"); % 2: 1 Sa pRECEL 2%
title( SRAEMAR /N T 4 £ Wik ik )

axis([ -88 —0.251]);

n2=-8:4/5:8;

£3 = sinc(n2);
subplot(2,2,2);
stem(n2, £3); hold on;
t2=-8:0.1:8;

f4 = sinc(t2);
plot(t2,£4,"':");
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title( SRAESR K TR LM mAE);
axis([ -88 —0.251]);

x1=[—-4.5%pi:0.001:4.5% pi];

dl=[—-4.5%pi:1.5%pi:4.5% pi];

subplot(2,2,3);

yl = pulstran(xl + 0.75 * pi,dl, 'rectpuls', 0.5 % pi); & 7 A ik R
plot(x1/pi,yl+1);

axis([ -4.54.502.1]);

title( SR I )

xlabel( '\Omega/x');

x2=[-5%pi:0.001:5x pi];
d2=[-5%pi:2.5%pi:5%pil;

subplot(2,2,4);

y2 = pulstran(x2,d2, 'rectpuls',2 * pi); % ;oA kiR
plot(x2/pi, y2);

axis([ -5501.1]);

title("BIE R AIRS "),

xlabel( '\Omega/x');

TREBI /T 25 BT TR A T4 TRl
1 T O T 1 - :f_ﬂv :
0.5 - 0.5+ i

S A i B T

T

051 -

0 1 L L i | 0 |
-4 2 0 2 4 i5 0 5

Q/n Qin

Bl 3-43 N [FRAFEIART B R AR S P8 K0S

[ARZFNEY AT E o IR O 1E 52 o8 BOR T 7] U 4T 148 - 45 55 % RIS
5 ) LI R R AT 23 M DR A BB AT 60 O« fi e K A L A 7 kA T R AR R A
RS2, S A LA e e o) ML 55 0 DL K L A SV T B 3 M S5 0 0 40
SR R M IR B R o 6k T R T R A £ BE AT A 2 A AR IR A T AR 4 L e
S o m U] P A 5L 78 48 1) 5 05 o A B RO 2 T L I A 0 ) — R R I 3208 T
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o A2 3.6 TR LTIBEFE RIE — B AR, 3.6 4 3.7 1 XF LU 5T A 115 5 5
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3-6 SRIEZAES sin(w) AIARZIE S cos(wot) BIIHIE .

3-7 SREWHETERIEES (O =Eg.(t)cos(wt) BTG FE Flw) ,
3-8 B M f(O)F(w) 3K flat—>0)XF N A {H A8 4
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3-10  SRUNIE 3-47 Frow iy =Rk oh (o 0l B AR 8 8 Fw)

F(t)
T

— 0‘ T [

B 3-47 @t 3-10

3-11 B SO 3-48 Fiw 3K £ B R Flw)
F(n

2

-

2 0‘ 2
&l 3-48 5 3-11
3-12 BH f()=te() . 3R ) RIBIE R Fw) .
3-13 XK f(t) =cosdt+sin8t BYEH E MR IE,
314 O f‘]<z>HEfsa(‘“7f),;1‘z FO=f1() % [0 [P RE 5 B R F(w) .

3-15 B fFOMERMAE R Flw) SR FIMES (O =tf(—30) B 28 e,
3-16  SRANK 3-49 FroR B9 5 018 Bk An 4,

Kl 3-49 8 3-16 K

3-17 E3-50) iR ARG H =T RGEM A B AL T R oh I 1 Ay (),
hy, (O AN 3-50(b) fiT7R . SRE ARG Em R A ), IF e R IE .
3-18 #HEH FLA) 1=F(w) » F) FH A5 e i M i T 5045 5 9 {8 L AR 4,

(1) t£C20); (2 (—2) f(D) s
(3) (1—2) f(—20); ) zdj;(t”;
(5) -0 6) (1—0 fF(1—0)

3-19  —FEAE A EIR E 100Hz 75 /Y 3% 22 0 [0 5 5 75 28 2min, 86 T 3H R LA
B 0 JHCAAE LA 1S HAE 5 SR e/ 14 BRAR I RE R
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3-21  #i5E N IME T I SRR AR R 5 2 22 R B

130



$IE HEMETHR

ha(t)

h(n

1 1]
0o 1 7

(b)

| 3-50 A 3-17 [

LA

=
=

=t £ T ‘
- _E 3 (@] o) T
(a)
fir)
\/\/\E /\/\/
4 A
_:'l_ir-?i @ l-;l‘ T
(b)
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(1) Sa(1008); (2) Sa*(1008); (3) Sa(100s)+Sa(50¢); (4) Sa(100s)+Sa*(60¢)
lw|<<2 rad/s

SR Co BRAR BRI 23 25 by
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0, |wl|>2 rad/s

il A 1] e
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|

31 f() =4 < sith-’-isinSQt—FisinSQl—’— )
T 3 5
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